(15 pts) 1. Using the definition of the Fourier transform (not the table of
Fourier transform pairs), compute the Fourier transform of the DT signal:
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(20 pts) 2. The Frequency response of a continuous-time LTT system is
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(15 pts) 3. True/False? The Fourier transform of a DT signal z[n] is a
periodic function, no matter what x[n] is. (Justify your answer.)
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(10 pts) 4. A continuous-time LTT system has frequency response
Jw+4
(jw+2)(Jw + 3)

Derive a differential equation representing this system. (Use the properties
of the Fourier transform listed in the table to justify your answer.)
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(15 pts) 1. Using the definition of the Fourier transform (not the table of
Fourier transform pairs), compute the Fourier transform of the DT signal:
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(20 pts) 2. The Frequency response of a continuous-time LTT system is

1

H(jw) = H(w) = P

Use the convolution-preperty-of the Fourier transform to determine the re-
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(15 pts) 3. True/False? The Fourier transform of a DT signal z[n| is a
periodic function, no matter what z[n] is. (Justify your answer.)
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(10 pts) 4. A continuous-time LTT system has frequency response

oy _dutd
H(jw) = (PEDPED)

Derive a differential equation representing this system. (Use the properties
of the Fourier transform listed in the table to justify your answer.)
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(10 pts) 5. A CT signal z(t) has Fourier transform

X(w) = —2eU7 Dy (w + 1).
A6

Denote by y(t) the signal obtained by delaying x(t) by six seconds. Sketch

a graph representing the magnitude |Y(w)| of the Fourier transform Y(w) of

y(t). (Justify your answer.)
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